Name

Horizontal Bar Graph

Score

BG:27

The table represents the mode of transport used by the people. Draw a bar graph and
answer the following questions.

Mode of

Transport Walk

Bicycle Car

Bus

Number of

18 12 21
people

30

1)

2)

3)

4)

Car

Bus

Walk

Bicycle

0 3 6 9 12 15 18 21 24

Number of people

Which mode of transport is most used?

N
(4

27 30

How many people prefer walking?

What is the difference between the use of cars than

bicycle?

Which mode of transport did 12 people use?
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Horizontal Bar Graph

Answer key

Name

Score

BG:27

The table represents the mode of transport used by the people. Draw a bar graph and

answer the following questions.

Mode of

Transport Walk Bicycle

Number of

12
people

Bicycle

9 12 15 18

Number of people

Which mode of transport is most used?

How many people prefer walking?

What is the difference between the use of cars than
bicycle?

Which mode of transport did 12 people use?

Bus

18 people

9 people

Bicycle
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